CAPF (ACs) Exam,2024

o T T W whew qie @ @ 7wt w0 o o 7 a

.5 H. | KSCB-A-GAI qdterer gfeasht SRy

o - wderor gfer
AT qrgaT U ghgaear

A

0187033

T ; A e : qurtes : 250

10.

TG
TR W B ¥ GO AMe, AT W qQervr gfersnt i wgare sava wR o foh et | faen o,
HT AT G T IS HAAT WA, S 7 | A v B, A 5@ Wt wderor yferw & w@w A |
Foar oW @ 6 OMR Iw-wws #, Sfm wm w J9 e SR wdew gfese saes
A, B,C TTD @ e & wa e et w an Rty 3 s siR ewrg w &t finderdt switeaw

k| et s e /By B ferf et et e B s |

A e g R @ 7 fou T e 7 e s

I fora & | e gfee W iR 3 A o |

za wdem gfRen & 125 i (ve) oo o ¥ | v v fERd ofk st O F oW R | s

WA ¥ SR W (S R g # | 379 A 0 W AT A, PR 39 IwR-w W iR e e

¥ 1 3R s Y A fo6 o @ it v w6 €, A 99 WG W sifeRa @) S SR ware o |

W e 3 Ty e v @ TR g R )

mwaﬁmm%ﬁqmw-mmé}aﬁﬁaﬁ%|3ﬂtmﬁﬁq‘l‘1ﬁ€%ﬁél

WY w6 3 T € | :

m%ﬁﬁmmgﬁ%w%ﬁﬁmmﬁﬁamw-mméﬁﬁmwﬁ,mﬁw

TET-9 o A1 W STeRit & R 30 e S|-ms T € |

A 39 T TR S STW-TAh H WA & G FT G & T R A IU-UAF e A da

2 | IO 9 AT qEur gferE o ST R SRl |

o o o forg v wleor gfes & sia d dewm € |

Tt WAt ¥ efgar g Ry e e wwt % forg e fan wmam |

() Y% 7 & g IR SlE S| ¥ | Seficar TR vae ue & o oy q v Tem s
% forg e *g T forg 1 it o - feres < 3 & 3 ver o |

(i) IR A Inficar o & st I TaT R, N T I AW S, 7w fog T e # & w
IR FE o &, TR o 38 ww ¥ forg SrfeER €, S we @ 58 fear s |

(i) 3 Iefear grr o W T R fern St ®, sraiq SefieaR R SR e fe s @, v e
v % forg = < 7t foan st |

T dF ATIH g GO YETHT @A & 7 Fgl JI¢ as a% 7 g

" Note : English version of the instructions is printed on the back cover of.this Booklet.



1. Fraforfea # & S9-, u= st
(non-procedural) e HINT TEI & ?
(2) LISP

(b) Python

(c) Prolog

(d ML
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3. Indeo
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1. Which one among the following is

NOT a non-procedural computer
language ?

(a) LISP
(b) Python
(c) Prolog
(@ ML

. Consider the following :
1. MPEG

2. P*64

3. Indeo

Which of the above can be used to
compress video files ?

(a) 1 and 2 only

(b) 1 and 3 only.

(c) 2 and 3 only

(d 1,2 and 3

. Which one among the following has
largest energy per photon ?

(a) X-ray

(b) Ultra-violet ray

(c) Visible-ray

(d) Infra-red ray

. In Sun-Earth system, the distance

between Lagrange points L2 and L3 is
about

(a) 15 lakh kilometre
(b) 30 lakh kilometre
(c) 16 crore kilometre

(d) 32 crore kilometre

5. Which one of the following statements

with regard to greenhouse effect is
correct ? : :

(a) It can take place inside a glass
chamber where no radiation can
_ pass into it or pass back through it

(b) It can take place inside a glass
chamber where long wavelength
infrared radiation can pass through
into it and short wavelength
infrared radiation cannot pass .
back through it

(c) It can take place inside a glass
chamber where short wavelength
infrared radiation can pass through
into it and long wavelength
infrared radiation cannot pass
back through it

(d) It can take place inside a glass
chamber where all infrared
radiation can pass into it or pass
back through it

. A canon shoots a ball upwards with an

initial speed of 100 m/s. The total time
of flight of the ball is 20 s before it hits
the ground. The ball looses 70% of its
speed after hitting the ground. Which
among the following is the correct
height that the ball will bounce up after
its first bounce ? (g=10m/s?)

(2 100 m
(b) 70 m
() 50 m
d 45m
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7. Which one of the following statements

correctly defines PM1 particles in air ?

(a) These are suspended particles of
diameter more than 10 micron

(b) These are the particles that are
filtered by the nose during
respiration

(c) These are extremely fine particles
of diameter less than 1 micron

(d) These are coarse particles that
penetrate directly through the
lungs into the bloodstream

. Which one of the following heat

transfer mechanism does NOT require
a medium ?

(a) Conduction
(b) Convection
(c) Radiation

(d) Collision

. Which one of the following statements
about the solstices, an event that occurs
when the Sun appears to reach most
northerly or southerly, is correct ?

(a) The winter solstice takes place on
June 21 in both the northern and
southern hemispheres

(b) The winter solstice takes place on
December 21 in both the northern
and southern hemispheres

10.

11.

(c) The summer solstice occurs in
northern hemisphere on June 21
and on December 21 in southern
hemisphere

(d) The summer solstice occurs
in northem hemisphere on
December 21 and on June 21l in
southern hemisphere

Which one among the following does
NOT have any linkage with the
phenomenon of  electromagnetic

induction ?

(a) Electric transformer
(b) Induction cooker
(c) Galvanometer

(d) Electron microscope

Which one among the following
statements about matter is NOT
correct ?

(a) On increasing the temperature of
solids, the kinetic energy of
particles increases

(b) The maximum temperature at
which a solid melts to become a
liquid at atmospheric pressure is

- called its melting point

(c) Particles of steam have more
energy than water at 100°C

(d) Direct change of gas to solid is
called deposition

A - KSCB-A-GAI
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13.

14.

15.

The isotope of which one among the
following elements is used in the
treatment of cancer ?

(a) Uranium
(b) Cobalt
(c) Iodine

(d) Fluorine

Water is a good solvent for dissolving
ionic compounds because

(a) It has a high specific heat
(b) It has no colour
(c) It has a high dipole moment

(d) It has a high boiling point

Which among the following is correct
with respect to bond formation in an
ethyne molecule ? .

(a) Carbon-Carbon single bond
(b) Carbon-Carbon double bond
(c) Carbon-Carbon triple bond

(d) Carbon-Hydrogen double bond

Which among the following are the
main ingredients for manufacturing of
glass ?

(a) Silica, sodium carbonate, borax,
alumina and cullets

(b) Iron oxide, lead, sodium bicar-
bonate, alumina and cullets

16.

17.

18.

(c) Magnesium carbonate, alumina,
silica and cullets

(d) Iron oxide, sodium, alumina, silica
and cullets

Which one among the following
statements with respect to the atomic
number of an atom is correct ?

(a) The number of neutrons is same
as atomic number

(b) The sum of electrons and neutrons
is same as atomic number

(c) The number of protons is same
as atomic number

(d) The sum of protons and neutrons
is same as atomic number

Which one among the following is an
example of endothermic process ?

(a) Combustion of carbon
(b) Mixing acid and alkali
(c) Photosynthesis

(d) Respiration

Which one among the following is
used in the manufacture of ultra-violet
protective glasses ?

(a) Aluminium oxide
(b) Tungsten oxide
(c)’ Mol&bdenum oxide
(d) Cerium oxide
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Match List I with List IT and select the
correct answer using the code given
below the Lists :

List I - sList 1
(Pigment in paint) (Example)
A. Natural pigment 1. Chalk
B. Synthetic pigment 2. White lead
C. Reactive pigment 3. Red lead
D. Inert pigment 4. Titanium
: dioxide
Code :
AR O D
@ Friig g
@ < 3 24
oy )48
4 4 3 3 71

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I oo LastH -
(Element) (Unpaired electron)
A. Boron 1. Zero
B. Nitrogen 2. Two
C. Oxygen 3. One
D. Neon 4. Three
Code :
A B G D

0 1 4720 :3

® 1 2 43

) 3 2 4 1

(dy 3. & 2 1

21.

22.

23.

24.

Which one among the following
biotechnologies is applied to manufac-
ture pharmaceutical products such as
insulin, antibiotics and vaccines ?

(a) White_ Biotechnology
(b) Red Biotechnology
(c) Green Biotechnology

(@) Blue Biotechnology

In which organism did Gregor J.
Mendel conduct the experiment to
explain principles of inheritance ?

(a) Groundnut

(b) Garden Pea

(c) Four O’clock plant
(d) Fruit fly

In which layer of the plant tissue Guard

cells are present ?

(a) Palisade mesophyll
(b) Spongy mesophyll
(c) Epidermis

(d) Xylem

Identify the correct option from the
following about the proportion of
different gases in Biogas ?

(a) Methane > Carbon dioxide >
Nitrogen

(b) Methane > Nitrogen > Carbon
dioxide

(c) Methane > Oxygen > Carbon
monoxide

(d) Nitrogen > Methane > Carbon
dioxide

A — KSCB-A-GAI
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frfofa # & S, A F TR

&I 5= €T (audible range) & ?

(a) 20 kHz - 200 kHz
(b) 20 Hz - 20 kHz
(c) 20 Hz - 35 kHz
(d) 20 Hz — 40 kHz
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(a) B W (HFRIST)

(b) TR

(c) I
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(b) Fa 1312

(¢) 1,233

(d) Faer 23 3
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% 8F A JfsR/dN w1 ge

FHIATIHRA T ?

(a) wfeR & @, ey Hit fogeet
=, iy sqferem
(frmfifer), stelt = o fmfo
(Fefifer)
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(b) ST H fogeet =, e
#  @e, dwy  sEfeem
(Remfifer), steft =0 i fomfor
(Fenfrn)

() Siwg sifeer  (fEwfifér),

gl W oFm fmia (s,
deAe fit fogecht @, wnfdR
EIRCIE]

(d) dwag it figeedt @@, duag
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H @, Tl w1 Fa Fmo
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F UNU @l R e ama: Sfa

 H e R ?
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H g H A It ol ®

(b) WS WU WR R It K BN &

30.

IR ,

(c) S=9 UV wWR Jqen Afy fwdh
e dvor &R A =y @ afte
gerar ¥ faba o gear @

(d) if@ o &R Rl @ gEen
I Wit & g w0 gie s
?
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g7

(a) g IATaRT

(b) ¥t fareeht
(c) TrEErEm

(d) wHYFT-Hen
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26.

27.

28.

Which one of the following is the
audible range of hearing for humans ?

(a) 20 kHz — 200 kHz

(b) 20 Hz - 20 kHz

(c) 20 Hz - 35 kHz

(d) 20 Hz — 40 kHz

In what form excess of glucose is
stored in human body ?

(a) Fructose

(b) Glycogen

(c) Glucose

(d) Starch

Biotechnological research is promoted
through the development of “Bio-
technology Parks”. Which of the

following is/are essential to bring
technology to market ?

1. Development of new product
2. Entrepreneurship
3. Technology incubation

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only
(c) 1,2and 3
(d) 2 and 3 only

Which one of the following is the
correct chronology of invention/
discovery in the field of Bio-
technology ? :

(a) Discovery of Plasmid, Double
Helical structure of DNA, DNA
* fingerprinting, cloning of Dolly

11

29.

30.

(b) Double Helical structure of DNA,
Discovery of Plasmid, DNA
fingerprinting, cloning of Dolly

(c) DNA fingerprinting, cloning of

Dolly, Double Helical structure of

DNA, Discovery of Plasmid-

Double Helical structure of DNA,
DNA fingerprinting, Discovery of
Plasmid, cloning of Dolly

(d)

In an ecosystem why is the number of
trophic levels of a food chain usually
limited ?

(a) Lower trophic level has lesser
energy than the higher trophic
level

Because of the loss of énergy at
each trophic level

(®)

(c) Higher trophic level individual

can control the lower ones more
efficiently

(d) Limited trophic level makes a

food chain less vulnerable to
parasites

Which one of the following structure
is NOT found in.prokaryotes ?

(;1) Nuclear envelope
(b) Cell membrane
(c¢) Ribosome

(d) Cell wall

A - KSCB-A-GAI
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(b) Fa 2
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Consider the following statements
regarding the rotation of the Earth :

1. Since the Earth rotates by 15°
each hour, time zones normally
differ by one hour

2. At the International Date Line, the
calendar day changes — advancing
a day for eastward travel, dropping
back a day for westward travel

3. Daylight saving time advances the
clock by one hour

4. The Moon rotates and revolves
about the Earth in the same
direction that the Earth revolves
around the Sun

Which of the statements given above
is/are correct ?

(a) 1 only
(b) 3 and 4 only
(c) 1,3 and 4

@) 2,3 and 4

Which of the following statements
regarding faunal resources of India
is/are correct ?

1. High degree of endemism has
been noticed in the biodiversity
hotspots of India

2. Of the total biosphere reserves in
India, the Sundarbans has the
largest number of species and
Nokrek has the smallest number
of species

33.

34.

Select the answer using the codes
given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following characteristics
of a type of wind :

1. They occur at upper levels in the
atmosphere

2. They are subjected to two forces, a
pressure gradient force and the
Coriolis force -

3. When the forces balance, air
moves at right angles to the
pressure gradient, parallel to the -
isobars

Identify the type of wind on the basis
of the given characteristics :

(a) Jet Stream

(b) Geostrophic Wind

(c) Westerlies

(d) Easterlies

Where does podsolization take place ?
(2) Regions in high middle latitudes
(b) Coastal regions in lower latitudes

(c) Regions with hot and humid
climate

(d) Regions having arid climate

A - KSCB-A-GAI



35. 9Kk Wew &t Safy & fau Hefe

gReeqar & dedl # frefafaa # @
-9 99 98l § ?

(a) ekt Reeqar &1 WRY T&
foafa, o Memer, dR-UR
A At foeare Hremfier & &9

¥ {ET ST G B

(b) T 3R fomr & afommasy,

Fs A onfed grd & Oy T fam
(fewr) = ®

(c) sfe-gd (Mar-wa) & fmfor &
g-a1y fawmr 9’ war § @k
el & Fe (1) 99 ge o €

(d) @t F foemm gt wufa @
W € 3R 7t @ i a=a € &
T & IR AR FEnt § gfem
A ®

36. afs =geieie § 31 femeR, 2023 ®, vt
' wmavaﬁtmﬁﬁa-ﬁ
akrg erft ?
(a) o A TG 01 ST, 2024 §
(b) T ari@ 30 feger, 2023 ®

(c) s # 31 femew, 2023 3R
4TS 2t F 01 Sad, 2024

(d) TaTE gt # 31 feEer, 2023 3k
AT 01 S, 2024

37, ST 5 e % Pl % A A
FIA el AEl © ?
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() T T wmwa: wgd =
Hew #§ BT 8

(b) I o Tl awt A A Geg

(c) aul S IUFHT FWT, FIA R |
Bt ®, @ Tl s 9@ gu wa
R Bre 9% & gl a1 Al & TG
¥ 3@ B I ®

(d) et # oh Bl g Hehal W B €

38. g1 [ & gt 11 & gafea v sk
qﬁ]ﬁ%aﬁ%ﬁqmaﬁmmaﬁ
Fﬁwiﬁn
Ejﬁl gl I
(FeTR ') (srafeafa)
A FRGE ar1 1. serdfes
HERR
B. SR AR o wrwrier. WEREIR
C. off vaare 3 FCAIfeE
HETERR
D. i ar 4. g mErETR
-8

@8 g ey
o e gt i)
© iy 43

g 24 3



35.

36.

37.

Which one of the following statements
with reference to the Nebular Hypo-
thesis for the origin of Solar System is
correct ?

(a) The initiation of the nebular
hypothesis can be considered as a
diffuse, roughly spherical, slowly
rotating expanding nebula

(b) As a result of rotation and
expansion, a disk is formed with
matter concentrated in the centre

(c) Expansion continues with the

formation of the proto-Sun and the
rings of material are left behind

(d) The material in the rings get
condensed and form the planets
that revolve in orbits around the
Sun

If it is 31st December, 2023 in
New Zealand, at the same time what
will be the date in the Hawaiian Islands
and Alaska ?

(a) Both have 01 January, 2024
(b) Both have 30 December, 2023

(c) 31 December, 2023 in Alaska and
01 January, 2024 Hawaiian Islands

(d) 31 December, 2023 in Hawaiian
Islands and 01 January, 2024 in
Alaska

Which one of the following statement
with reference to hailstones is NOT
correct ?

38.

(a) Their formation usually occurs
during the monsoon season

(b) They are associated with dense
cumulonimbus clouds

(¢) Rain that forms in the warmer,
upper layer solidifies into tiny ice
pellets or hailstones in the lower,
subfreezing layer

(d) Hailstones have multiple, con-
centric layers of ice

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I ListII
(Ocean Current) (Location)
A. Kuroshio : 1. Antarctic
Current Ocean
B. Agulhas - 2. Pacific
Current Ocean
C. East Wind 3. Atlantic
Drift Ocean
D. Antilles -4, Indian
Current Ocean
Code :

(a)34.12

A e R

oo &
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39. ‘Fw-a™ (% TFR) F wed H,
frafofes & @ s9-wr/a -8 599
TR/ ?

1. 3% Aefifes TR s e S
?

2WRE F A daw afw ¥
fefirfrarer er Rord § arq o &

= i U He W @ W 7 W

g ;

(@ Fad 1
(b) %ﬁaz‘ .
(©) 13R2zMt
(d TA 1,782
40. Rt Ffereis ot fafies & dey
# Frafafea & & SF-a1 w7 w8 @ 2

(a) AT & Florew # R, ¥8
forft &= # WRa A Teelt R TR
A BT AT AT ©

(b) 3T zEY adim Rk dR It
I, gelt e # e F
fou foemies fmfor sk ot
i S fafay &= & R =
foramr '

(c) T 2011 ¥ ‘FRe & o=t foar
T §

(d)ﬁgﬁaaﬁqmaaﬁas’iaﬁw
IATEH HIAT © '
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41. fFrafafes & & F9-d@t wiwa/
wisraTy, St =ik o fewar 8 /% 2

1. freftoram

2. TR

3. e (Sw)
T fir T W W W 9 s
gfag :

(a) Hae 1

(b) Fae 13R2

(c) Fae 23R 3

@ 1,23K3 .

42, 95 § v ¥ awE F GEy §
Freafafaa ot ® R A

2. ¥ it o Rfor g s
ST Fal & o fodt wag @
T TS IR Gl ©

3. 7 fafemor sgem gma: v &
T TS AR T &

FUTCHS BT &

4. R ¥ o aowE ¥ Wy A -
98 ot @t I ® '

F9GH H W BH-§ AT G ® ?
(@) ¥ 1aR2

(b) Fa@ 3 3R 4

(c) Faa 1,23R 3

(d) 1,2,3aﬁ~<;1



39.

40.

With reference to ‘Black Tigers’,
which of the following statements
is/are correct ?

1. They are also referred to as
Melanistic Tigers

2. In India they are found only in
Similipal Tiger Reserve in Odisha

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
statements about the Singareni
Collieries Company Limited is
correct ?

(@) Located at Kothagudem in
Telengana, this is the first and the
oldest coal mining company in
India in the private sector

It has now diversified into thermal
and solar power generation,
explosive  manufacturing  for
blasting in opencast mines and
consultancy works

(b)

(c) It has been conferred with
‘Navratna’ status since 2011

It is the sing'le largest coal
producing company in the world

(d)

17

41.

42.

Which of the following ‘' processes
is/are part of the Rock Cycle ?

1. Lithification
2. Metamorphism
3. Solidification

Select the answer using the code given
below :

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d 1,2and3

Consider the following statements

regarding the temperature of the
Earth’s surface :

1. The temperature of a surface is
determined by net radiation

2. Net radiation produces a radiant
energy flow that can heat or cool a
surface

3. Net radiation balance is usually
positive during the daytime and
negative during night time

4. Soil surface loses energy as
temperature increases during the
daytime

Which of the statements given above
are correct ?

(@) 1 and 2 only
(b) . 3 and 4 only
(¢) 1,2 and 3 only
(d 1,2,3 and 4
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43. frfafaa st w fer $iftme .

1. st HeT sl aui-fafya waat @
I & forg Suzgeh wHe ST §

2. Wt Hor @ sEfy & foq
URW SR GHhAl g, Frad weet @
T =g # W Shifed A # gema
et 2

Iugth oAl & gy ¥ frafofea @
aﬁﬂ—m/ﬁa—%waﬁ%/ﬁ ?

(a) F 99 98l § IR T 2 F 1
& e e §

(b) T FI FE AR FIT 2 T 1
& T e wE e

(c) T 1 we & g ot 2 7era

(d) F9 1 Toa § forg oo 2w @

44. fafafaa # ¥ S9-11 W s”a W
w femr g & 2

(@) Faa
(b) I
(c) <ifemar

(d) THq

45, ‘el & ol 92’ & e §,
" Frafafeg & @ slv-wr /s 0-8 3.
e /% ?
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46.

47.

1. 78 fég wemrR & fem fa &

2. 9%l 9% gféal & #re feger ok
SAE ¥ aut Bt ®

= fog T g @ AR R IR gR
(a) Sae 1
(b) Fad 2
() 13K 23l
(@ FA1,T82

T 1+(1x2)+ (1 x2x3)+..+
(1x2x3x .. x500) 8 & fawfom
foram ST €, @ Awwe ¥ BRI ?

(@ 1
(b) 2
© 3
(d) 4
et srdfga & gorma & wed W &

TWER 8% 9 Breugs grRr s= /T
T s (feft #) war g 2

@) 15°
(b) 30°
(c). 45°

) 60°



43.

44.

45,

Consider the following statements :

1. Black soil is considered suitable
for growing rain-fed crops

2. Black soil can retain moisture for
a prolonged period, aiding crops
“to survive even in dry seasons

With regard to the statements given

above which of the following is/are
correct ?

(a) Both the statements are correct
and statement 2 is the correct
explanation of statement 1

(b) Both the statements are correct

and statement 2 is NOT the
correct explanation of statement 1

(c) Statement 1 is correct but state-
ment 2 is false

(d) Statement 1 is false but state-
ment 2 is correct '

Which one among the following
countries is NOT a part of the Arabian
Peninsula ? ' '
(a) Kuwait

(b) Oman

(c) Libya

(d) Yemen

With reference to ‘South Coast of
Australia’ which of the following
statements is/are correct ?

19

46.

1. It is situated along the Indian
Ocean

2. It experiences rain during its
winter months of December and

January

Select the answer us'ing the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The remainder, when 1 + (1x2)+
(1x2x3)+..+(1x2x3x..x%x3500)
is divided by 8, is

A

47.

(b) 2
(c) 3

(d) 4

The angle (in degrees) made by a
sector having area one-sixth of the
area of a semicircle is

(a) 15°

(b) 30°

(c) 45°

(d) 60°

A — KSCB-A-GAI



49,

50

48, frafofea & & S, w@enm 11, 12,

13, ...,201‘-{%11@%11@1%;11@@
TUIST & SftEd ® 7

(a) 405

(b) 425

(c) 445

(d) 46-5

frafafes 3 ¥ S-w /93 ==
I R/E?

1. 9R g&wsit 10, 15, 20 3K 25 &0
dead 175

2.'qﬁa,b3ﬁ“{c_?ﬁﬁﬁ1"erﬂﬁ‘fﬁ@1
EHW%'f%Ea+b+c=abc,aa
a,bSﬁI'cET(iﬂﬂ?T3% v

= fow o e 1 W o s i

(a) %Tc!ﬂl.‘

(b) Had 2

(c) 13R23t

(@ Tdq 1,982

X IR Y adwm ag (avt F) W

AT ¥ R ZFt adam g (ast #)
F FIIE & /K ® | AR ¥ A adwm
g 15 af ?, o FrafRa & @
aﬁa—mxmﬁrzﬁa@(ﬁﬁ)m
mz‘rm%?

(a) 35

(b) 40

(c) 49
(d) 55
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51

52.

5%

.afe x+%=2 @ ox

+—§5 AN
Frfafea # & SH-a1 8 ?

(a) -1

(b) 0

() 1

d 2

TF THAER ¥ 30% H wiN W g
oG == | afs sae fosa 5= 2150
w2, d S 10% F @ o |
I TS T AT ?

(@) 375
(b)" T400
(c) T425

(@ 450

A, B 3R C et = &t s 20, 25
AR 30 fom F W o § | ¥ e
= YR WA € fig B Rt o
4 A F G T D Big W1 | T
4 srw ¥ feaw A & w oA
STQ ?

S R

15

oy
(b)' logﬁﬂ,

14

(© 1055- fem

: 1
@ 11;5.,1%3



48.

49.

50.

Which one of the following is the
average of first five multiples of each
of the numbers from 11, 12, 13, ..,
207

(a) 405

(b) 425

(c) 445

(d) 465

Which of the following statements
is/are correct ?

1. The average of four numbers 10,
15, 20 and 25 is 17-5

2. If a, b and c are three different
natural numbers such that
a+ b+ c = abc, then the average
of a, band c is 3

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

The ratio of present ages (in years) of
X to Y is equal to the ratio of present
ages (in years) of Y to Z. If the present
age of Y is 15 years, then which of the

following can be the sum of the ages
(in years) of X, Y and Z?

(@ 35
(b) 40
(c) 49
(d) 55

21
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52.

If x+%=2, then which one of the

following is the value of x> +——13—2—?
X

(@ -1

(® 0

(c) 1

@ 2

A shopkeeper sold a product at 30%
loss. Had his selling price been ¥150
more, he would have made a profit of
10%. What was the cost price ?

(a) %375
(b) %400
(c) T425

(d) 450

53. A, B and C can finish a work in 20, 25

and 30 days, respectively. They start
working together but B quits after
working for 3 days. In how many days
from the start shall the work be
completed ?

8
a) 9— days
(a) = y
(b) e
2
14
¢) 10— days
(©) . y

1
d) 11— days
d 1o 98
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54.9 99 A 3R B UE T @ HEW:

58.

56.

20 fime 3R 15 e § W aea ®
T T C R W g R A 6 e
refl &R TRl § | B A W &
qd A IR B A 5 e wem & =g, &h
H el A & o 79 ¢ @
STt R, Stefe 4 3R B 3™ WOR W
w T | TR A F R fee W
T Gt B ST ?

(a) 10%&?&
(b) 10% fire
©) 10% e
) 11% frme

A ¥R BT B iqed W g & forg wm
T G W AT ARA WA E | B, A S

wie & 3 wfis & woar & IR T |
A SN F 1 W 20 fre ¥ W
UEEAT R | Tiqe W UgEe & forg B g
feramr Tmg forar w2

(a) 4 w2 40 fie

(b) 4 wer 55 fiFe

(c) 5¥er s fame

(d) 5 ¥er 15 e

Ygier <t shiwat 7 12% H gl g |
F1S =fth Yt it @ua 7§ e vl
& ! R e 38% R 9 R ey
M a1 =g # i gRadT 78 o ?
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(a) 86%
(b) 9-8%

() 107%

57,

58.

59

@ 12%

afe 19a+ 195 + 19¢ =437, A q, b 3R
c & 3Ea (mean) FTE ?

() 633
(b) 7-66
) 933
(d) 1155

BT @i 1,2,3,4,5 %R 6 7 ; 3 A
gREf & fomr @ st A et
AT TS T ekl © 7

(a) 6

(®) 15

(c) 30

(d) 40

. T& IS 60 km/hr B whe ¥ a0

A TY TH WHEF FH 20 Ve F IR
FIA ® | ORI R AT H 6 km/hr B
T ¥ 9 & ARH A a8l o7 12 Ve
HUR Rl ® | 37 3R ewnt f dard
TN TR ?

(@) 160 m 3R 15333 m
(b) 170 m IR 166:66 m
() 180 m 3K 153-33 m

(d) 180 m 3R 170 m



54.

35

56.

Two taps 4 and B can fill a tank with
water in 20 minutes and 15 minutes,
respectively. A third tap C can empty
the full tank in 6 minutes. After the
taps A and B fill the tank for 5 minutes,
the tap C is opened to empty while
A and B continue to fill it. In how
many minutes after the start shall the
tank get empty ?

(a) 10% minutes
2

(b) 10—5- minutes
e

(c) lO; minutes
¢ 3o

(d) 115 minutes

A and B start at the same time to reach
the same destination. B travelled at %

of A’s speed and reached the desti-
nation 1 hour 20 minutes after 4. What
was the time taken by B to reach the
destination ?

(a) 4 hours 40 minutes
(b) 4 hours 55 minutes
(c) 5 hours 5 minutes

(d) 5 hours 15 minutes

There was a hike in petrol price by
12%. By how much percentage should
a person decrease his petrol con-
sumption such that there is no change
in his expenditure on petrol ?

23

57.

58.

59

(a) 8:6%

(b) 9-8%

(©) 10:7%

@ 12%

If 19a + 196 + 19¢ = 437, then what is
the mean of @, b and ¢ ?

(a) 633

(b) 7-66

(c) 933

(d) 11-55

Out of the six digit‘s 1,2,3,4,5 and 6;

how many two digit numbers can be
formed without repetition of digits ?

(@) 6
() 15
(c) 30
(d) 40
A train travelling at a speed of
60 km/hr crosses a platform in
20 seconds. The same train crosses a
person who is walking at a speed of
6 km/hr in the same direction as that of

the train in 12 seconds. What is the

length of the train and that of the
platform, respectively ?

(@) 160 m and 153-33 m
(b) 170 m and 166-66 m
(c) 180 m and 153-33 m
(d) 180 m and 170 m
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60. T WRIGRI % &, 4 3 fraw & 1§

61.

62.

AW A ¢t st & forg FRw awar 2,
Baa faw ¥ N am e I sy
fore fRy w=ar € sefs ¢ A9 9w =@
U e & fog fEw ek @

346,00,000 & FA W A ¥, C FT
fewar feraqem grm 2

(a) ¥30,00,000
(b) ¥32,00,000
(c) ¥34,00,000
(d) %36,00,000

AﬁtBﬁag(aﬁﬁ)mmzz%l
A A TR SR Y H I
77 @1 | frafafea & ¥ wl=-ar, s5h
AT HTG & 3R H AE § 7

(a) 2

() 3

(c) 4

d 5

T GHFGR o F6q¢ 4 3R B a=am R |
IE] B H 5 A, 98 A & 54 T

QAT 8 | GHMGR 96 4 & 10% &
AH R 49T § AR 98] B & 20% AH

W & § | fefafes § @ gg (fe)
TN A TR ?

(2)
(b)
©
(d)

15%
13-33%
18%

16-66%
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63.

100 BTAT T Teh HelT | 9, 25 S 9 Y
F forche 3R Feame Qe €, 15 B
¥ W fre 3k e dw €
12 B & ¥ FH FeaTe AR grht Ferr
? 3R 10 3 w9t dF1 o Qe € |
forhe, FeaTel 3R Bt Fem a Bt
$ T A 50, 37 AR 22 B | A
ol He Rt R M AR A A
HS A T 7E G © 7

. (a) .33

64.

65.

() 23
(c) 27

d 30

wi e % o e @, R
fa (Fer) @ wifte R, ww dow &
forg e w o R | Wl fr
g g fet }, fmd 3 &
aed W o w6 Sl o e
& A H AE AS ?

(a) 24

() 18
{c) 12

) 6

& A e & dm 9) Semn
AT § R Iae gRomw e fFu s
g1 3w @ @ (=) ww am &
TTfredT FaT § ?

(a)
(b)
(©

(d

P|W 0|l N|—= W|IN



60.

61.

62.

In a partnership firm, 4 invests %th of

the total investment 'for —é—th of the

tenure. B invests %rd of the total

investment for %rd of tile tenure while

C invests the remaining part for the full
duration. Out of total profit of
%46,00,000, what shall be C’s share ?

(a) 30,00,000

(b) ¥32,00,000

(c) %34,00,000

(d) T36,00,000

The sum' of the ages of 4 and B (in
years) is 22. The product of their ages
two years back was 77. Which one of

the following is the value of the
difference of their current ages ?

(a) 2
®) 3
© 4
@ 5

A shopkeeper sells two items, 4 and B.
Item B’s cost price is twice as that of

item A. The shopkeeper sells item A4 at -

10% profit and item B at 20% profit.
Which one of the followmg is the
value of net profit ?

@) 15%
(b) 13-33%

- (c) 18%

(d) 16:66%

25

63.

Out of a class of 100 students, 25 play
at least cricket and football, 15 play
at least cricket and hockey, 12 play
at least football and hockey and 10
play all the three sports. The number of
students playing cricket, football and
hockey are 50, 37 and 22, respectively.

'The number of students who do NOT

play any of the three sports is
@ 33

(b) 23

(c) 27

(d) 30

. A group of five people consisting of
- a couple are to be seated on a round

table for a meeting. What is the total
number of ways in which the seating
arrangement can be made so that the
couple do NOT sit next to each other ?

' () 24

iy -

- (@)

(b) 18
(c) 12
(d 6

A fair coin is tossed three times and
the outcomes are noted. What is the
probability of getting exactly two
heads ?

2
(@)

W |

(b)

(©)

0w Wlun N~
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66. St ¥ Wl vl At & ORE
ARA # 9w 3R T (RReEE) /
- Hv-fome & dey ¥ fafafeg st
Wﬁﬂ?iﬁﬁq

1. Torelt gefartt g &t o # et gg
@l &l ol wrafiemar & s o

2 f Bl qw s ¥ W

ifeat afeenat & Fu-fmm H
wHaEar A

I9gE H# 4@ aﬁa-w/ﬁa-ﬁ F99 |el
q/% 7

(@) Sad 1
(b) Faw2
(c) 13R2a+t
' (d) a?ﬁl,aéﬁz

67. Freafife 3 & - o T 7

1. ST Meds T e 7Es] 1932 8
e ¥ R R Arfiedt F faen
T

2. R Tems wew # g et &

IRUMTAEEEY R SRR Jrfrfemm,
1935 TR g3 '

3. WRA TR Afafaw, 1935 % wid

@Rt & feeR & 9 wer o

4. 1935 & rfafam # =k Y fdy
WId T WA GATA 3R el <l
w15 ufts 78 & T
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68,

2 frE

% g T e 7 I AR v g -
(a) 334 '

(b) 13ﬁi2

() 233

(d 13R3

ﬁmﬁf@au@raﬂiaﬁﬁwﬁ%gyw »
quﬁaniﬁﬁq

1;7?1?3;#32‘) ;i

;. faferear s
3. TSI qHIE
ST g # ¥ wH-A1 /-2 ]

- gaferm /8 7

() a1

| (b) FaT2
(0 13R2

69.

(b)

(d 23R3

SEARG fieeE %Eﬁmm%ﬁ;,
T Haq & 724 a9 #, wgeET F WA
& SR HISOT T 3T AT | 39 e
THA & A1 A g9 CEH 1 BRI ?

(a) 150 CE
181 CE
(c) 130 CE

(d) 120 CE



66.

67.

Consider the following statements
about the costumes and headgear/
hairstyle in India during 4th-—7th
century AD :

1. There was a marked preference
for stitched garment as compared
to any previous age

2. Simple plaits without any floral
embellishment dominated the
hairstyle of women

Which of the statements given above
is/are correct ? '

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following statements are
correct ?

1. The Third Round Table Confer-
ence met in London in November
1932 without the participation of
Congress

2. The discussions in the Third
Round Table Conference led to the
passing of the Government of
India Act, 1935

3. The Government of India Act,

1935 did not favor the idea of

provincial autonomy

4. The Governor was not given any
power in the Act of 1935 to take
over and run the administration of
a province

27

68.

69.

Select the answer using the code given
below :

(a) 3 and 4
() 1 and 2
(c) 2and 3

(d) 1 and 3

Consider the following pairs of texts
and their subjects :

1. Tilakmanjari Mathematics
2. Nighantu Medicine
3. Janakiharan Logic

Which of the pairs given above is/are
correctly matched ?

(a) 1 only
(b) 2 only
(c) 1 and 2

(d) 2 and 3

The Junagarh inscription goes on to
tell us that during the reign of Rudra-
daman, in the year 72 of the Saka era,
there occurred a terrible storm. What
would be the time in CE of the
occurrence of that terrible storm ?

(a) 150 CE
(b) 181 CE
(c) 130 CE

(d) 120 CE
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70. TSR &1 oo A A A s

71.

72.

T A fasa R § e gog =maTiat
& ufafa &1 Sww fer a1 ik
oy g0 o Sei@ forar a1 S @Rt %
AT St WoH R smavas wdd g
AT | 3FegX T GRT o efer & g
1 e foRam T ?

(a) A

(b) A

(c) Tse=

(d Tos

Fifea & o ¥, foomr wom ¥
wfra a1 fr a8 Y T TaH-a7 A
fadw amfSre sqae wife = | ==
fadw arfoes saen feg w— smafa
ot ?

(a) had FU FIET |

(b) &H, avf IR T TEEd |
(©) *ad g7 I

(d) T AR 3797 JFE W

e wRa & feafafya et (eras)
‘T{ﬁﬁﬂ'{iﬁﬁm

1. IF FA

2. HAL HIeA

3. fosm =@

4. g8 w1

5. W &«
Freafafaa & @ -4, snfe ¥ amw
R B, ST FIAl AL HIATLHA
g7

01 -2.3- 4.5

) 3T )4

l 2-8 1«48

Wy 312488
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74.

b

AARRT feeageian #a1 & ?

(a) FERI g1 Woa v=rEet & w9 F
ahford AU

(b) TEART gRT I WA (&)

(c) <t it 3 forg <h wfiat

(d) #aem A FEe & wWEl 6
=TT

HEAFAT FEH F WG GURSH &I

stafat # ar-eR Sfefea  ofy

(bhuni), Y9RT (pachara) 3R Tﬂ?ﬁ

(dopati) ¥ & ?

(a) @rfie Fer # IuanT frw s 9@
Tq % oA

(b) FN swww

(c) Ser fog Iwa & a9g wgeh dilla
EISCED

(d) geNT & F@E! & WA

e THE, 1919 & Hay # fr=fafea
Tl R TR $ifsa .
1. @ Uifge s =cfe
R aiRa femam wram o

2. 30 &AW Ry =3 % fog
Raerwa afufa = o7 e mr ar

3. et A fRwar & forar mm
Stafes T AamEt @ g
<@ it sgafa & o

Sugeh # @ o wem w8 /€ 7
(a) TH

() s

(c) dm

(d) =g 7wl



70.

71.

72.

Abdur Razzak, the traveler to Vijaya-
nagar, had referred to the presence
of a number of flower merchants in
Vijayanagar and noted a particular
flower that seemed as necessary as
food to the people of that part. Which
variety of flower was being referred to
by Abdur Razzak ?

(a) Jasmine
(b) Lotus
(c) Hibiscus
(d) Rose

In Kautilya’s Arthashashtra, the con-
querer king is expected to establish, in
the conquered territories, a social order
based on the

(a) varna system only

(b) dharma, varna and ashrama
systems

(c) dharma only

(d) varna and ashrama systems

Consider the following eras in early
India :

1. Shaka era

2. Kalachuri era
3. Vikrama era
4. Harsha era
5. Gupta era

Which one of the following is the
correct chronological order of the
above eras starting with the earliest ?

& 1-2.-9-4-3
gy Fa0 i
&2 -3-1-4-85
W3- 1234
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73.

74.

75.

What is Nalayira Divyaprabandham ?
(@)

Compositions by the Alvars com-
piled in the form of an anthology

(b)
(©)

Hymns composed by Nayanars

Eulogies composed for Chola
kings

(d) An exposition of the hymns of

Rig Veda in Malayalam

What are bhuni, pachara, and dopati
mentioned frequently in the bio-
graphies of the Vaishnava reformers
of medieval Assam ?

(2)

Vessels of metal used in religious
oblation

(b)
©

Agricultural implements

Musical instruments used at the
time of Bohag Bihu festival

Pieces of men’s clothes

(d)
Consider the following statements
about the Rowlatt Act of 1919 :

1. It was passed by the Imperial
Legislative Council

2. Khilafat Committee was formed
to oppose the Act

3. While Gandhiji was arrested, the
local leaders were allowed to
continue the protest

How many of the above statements
is/are NOT correct ?

(a) One
(b) Two
(c) Three
(d) None

A — KSCB-A-GAI



76. @& fawewm w9 wgmedl fsr &
ey A fafafes 9@t w® fRR
Hrfsa :

1. T8 foER o & vl 3 e
Ty wREat

2. 3@ R faeng AfR B
I9gh # | @I-U1 /R84 FG G
j/8 7
(@) *aa 1
(b) et 2
() 13R 23t
(d qAAL,TE2
e & faeg oo fogie & dey &
Frafafea # @ S A ad € 2

1. et 3 wvae & one F
foreg, wariim foge = sgrEaT ™A A
e o

2.Wmﬁﬁnﬁ‘q?ra@a?aaﬁ
JEr di

3. 1705 #, TN 7 TIAGE & qY
wifs enfig &= =1 fofa fn
IR DI H TR TR H A7GT
e femm

- 3T T e 1 wE 9 SR g
(a) %ﬁm‘aﬁu
(b) Hae 2 3R 3
(c) Haer 133
d 1,23R3

7.
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78. 1 & H T NUR & Fag A
ﬁw%%ammﬁmxﬁﬁq;

1. &1 ¥ WE ¥ e % A A
[ T @ aitae

2. S GRI @A A o AR S
TR feg sma ¥ iR {u @)
frafa feram smmam an

I9dH A A HE-9G1 /- FIT el
R/% 7

(a) Fae 1
(b) a2
() 13k 23wt
(d 1,782

79. Rrawstt grr fem éferen it = fomfor
fera v ar 2

1. gavigi
2. ot
3. faggt
4. wraTa
- A ST T g 1 FERT IR SR g
(@) 1,2,33R4
(b) FaT 1,234
(c) Faa3 R 4
(d) Haer2 3R 3



76.

Consider the following statements
about Mahanavami dibba, a massive

- platform :

1. It is situated on one of the highest
points in the city of Vijayanagara

2. Virupaksha temple is located on it

Which of the above statements is/are

correct ?
(a) 1 only
(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

77.

Which of the following statements
about the Bundela rebellion agamst
Aurangzeb are correct ?

1. Shivaji advised Chhatrasal to
promote local risings against
Aurangzeb :

2. Chhatrasal levied
marathas

3. In 1705, Aurangzeb decided to
make peace with Chhatrasal and
Chhatrasal was granted mansab of
four-thousand

Select the answer using the code given
below :

(@) 1and?2 only

(b) 2 and 3 only
(¢) 1 and 3 only

@ 1,2 and 3

chauth like
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78.

79.

Consider the following statements
about the Dutch trade in Mughal
period :

1. The Dutch transported silk goods.
from Bengal through Hooghly

2. Cloves and nutmegs were
collected at Surat by the Dutch
and exported to Europe

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Wthh naval forts were erected by
Shivaji ?

1. Suvarnadurg
2.‘ Vijayadurg
3. Sindhudurg
4. Kolaba

Select the answer using the code given
below :

(@ 1,2,3 and 4

(b) 1,2 and 4 only

(c¢) 3 and 4 only
(d) 2 and 3 only

A - KSCB-A-GAI



- 80. WeAET § AW 6 sdEeT ¥ gay i

Frafafea & & SF-a1/99-8 *0w
R/ Y e

1.3@14?%3?3:86@%&@@.

TS il AR I STee 3R AN
CEIE

2.%%&%%%%%—

g & qu fiew A A IR

TEER = 4TS

3. g¥aRl A (FEET #H) engat-rré
¥ Y R & forg ST ST a@n

ﬁ%ﬁﬁm'@mm_a«wgﬁq: '

(@) Hae 1
(b) Fae 1 3R 2
(© F23k3
@@ 1,23R3

81. Jvme frfese Ty sewTeEER
Hrewm dx gt frafafea & @ fm
R W AeEl dFR F T A
tofeq g 2

1. forga sik s

2. SO

4, fq=ms

5. farem
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82.

83.

7= for T Fe @ yER wR SR g
(@) 3,435

(b) Fas 133

(c) 1,234

(d 1,334

feafrfea & &, wra & for gafar &
SR (dae) fatess, 1986 @ weg
& gAfdER & forg qom Ssm an 2

(a) IR. qheEA
(b) & T Wl
(c) T S fow

(d) . AR. TREH

fire RS 2026 e eI

3R Reifte Gl & Ui (Emblem) &

oy ¥ frefafes suat w fmr
HIferg _
1.u'cﬁ?sa;rmw"qz13u (Futura)’ ®
2. Mot & shem § veeht =R
AHE FaeH (dA) & RT3
Gl & elteh st IAT AT AT
o § ¥ WA/ FA-Y T R
e/
(@) Faa 1

(b)) HEAA2

() 13R 2
m)aaLaéz



80. Which of the following statements

81.

about the economy of Assam in the
medieval period is/are correct ?

1. Ahoms cast excellent matchlocks
and made first rate gunpowder and
artillery pieces

2. Assam adopted new crafts of
brass-casting and making granu-

lated sugar during this period

3. Sarthebari village (in Kamrup)
was known for its skill in metal
casting

Select the answer using the code given
below :

(a) 1 only
(b) 1 and 2 only
(c) 2 and 3 only

@ 1,2 and 3

Which of the following sectors have
been identified as ‘critical 'sectors’
by the National Critical Information
Infrastructure Protection Centre ?

1. Power and Energy

2. Industry

3. Banking and Financial services
4. Trrigation

5. Education

33

Select the answer using the code given
below :

(@) 3,4and 5
(b) 1 and 3 only
(c) 1,2 and 4

(@ 1,3and 4

82.

83.

Who, among the following Presidents
of India, sent back the Post Office
(Amendment) ‘Bill, 1986 for the
reconsideration of the Parliament ?

(a) R. Venkataraman
(b) Shankar Dayal Sharma
(c) Giani Zail Singh
(d) K. R. Narayanan

Consider the following statements
about the emblem of the Milano
Cortina 2026 Winter Olympic and
Paralympic Games :

1. The name of the emblem is
‘Futura’

2. The emblem of the Games was
decided by a popular vote for the
first time in the history of the

Olympic

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

A — KSCB-A-GAI



84. ARA H TW UB, GFRK (SAGAR) &

85s.

oy § fafafea § @ s-ar ==

qE R 7

(2) 98 QUAD & M wgeh <R
AT Gl o & forw uw w9 ®

(b) T Iewd fog AEEER &7 & i
& 1T GG TEART I SgET ST @

(c) F% fég 7eMPR &% ¥ oA a
TR SRSt GLET WEH oA
& fou 9ra, s (Usa) sk
SITIT T TS

(d) T& HYH TUg el UREE R
wisa fery QTR S W
WE (FeFe I A7 ) F
AR it WEler) = fear mar 7w &

o 19 g 1A gfe S sk
T & A R e = oww w
E@Wﬂﬁl’q:

&1
(ST
THAA)

A. COP-26
B. COP-27

C. COP-28
D. COP-29

%

=l I
(Rw)

1. i
2. A&
3. gATsee famretn

4. UAE

(2)
(b)
(©)
(d)

O3 T S B (S TN 08 Flint
- AN = A b

A = BN = A
SR U O e S
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87. WYk TSz WA

86. "Ra & wfowm & fafafea
- AR F I, | e e

a1 &1 wE de™ a9 ¥ fafifeeg
Te=gd R ST & ERET HiTT GehT § ?
(a) FT=] 309

(b) TR 311

(c) FIT=R 315

(d) FIT=T 320

FET  HeAA
(UNCLOS) & day ¥ famfafea # &
PH-Y T G T ?

1. UNCLOS fifire anffs & w
uy Rl & g9y § TS &
a9 faarg & W # Gge Uy
& IRwg A Hefl FRATE A &
o wiftrera oar @

2. UNCLOS &ei &5t =t aRemfa
FAT © IR 3% HET ) fafafds

T 8

3. WRa IR FRew (gug) FF A
UNCLOS &1 srqamda fomm @

4. UNCLOS Y-9g TSai & &iqed
aftrpR Werm war ®

A fSu 1T g 1 yERr R IR g
(a) Haer1,23R4

(b) Fae 132

(c) Faw23 4

(d) 1,334



84.

8s.

Which one among the following state-
ments with regard to India’s maritime
initiative, SAGAR, is correct ?

(@ It is a platform for conducting
joint naval exercises under QUAD

(b) It aimed at promoting maritime
cooperation with countries of the

Indian Ocean Region

It is an alliance of India, USA
and Japan to provide safety to
merchant ships passing through
the Indian Ocean Region

©

(d) It is the name given to India’s
participation in the Contact Group
on Piracy set up by the UN

Security Council

Match List I with List II and select the
correct answer using the code given
below the Lists :

List I List IT
(Climate (Country)
Conference)
A. COP-26 1. Egypt
B. COP-27 2. Azerbaijan
C. COP-28 3. United Kingdom
D. COP-29 4. UAE
Code :
X . B:C P
8 3 1
) 2 1 4 3
(o) 2 4 1 3
(@ 3 182
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86.

87.

Under which one among the following
Articles of the Constitution of India,
a member of a Civil Service, whether
of the Union or of a State, seeks
protection from unlawful dismissal
from service ?

(a) Article 309
(b) Article 311
(c) Article 315

(d) Article 320

Which of the following statements
are correct with regard to the UN
Convention on the Law of the Sea

(UNCLOS) ?

1. UNCLOS authorizes the UN
Security Council to take a direct
action in case of the disputes
between States on sovereign rights
over Exclusive Economic Zones

2. UNCLOS defines contiguous
zones and specifies its functions

3. Both the US and India have
ratified UNCLOS

4. UNCLOS grants certain rights to
Landlocked States

Select the answer using the code given
below :

(a) 1, 2 and 4 only
(b) 1 and 2 only
(¢) 2 and 4 only

() 1,3 and 4

A — KSCB-A-GAI



88. fFrafofen # & @l-w1 /-7 ==

89.

90.

T R/R 2

1. wéie wfifa ¥ smews fcia
UK & €9 H o@r e § @i
F yuE A hi Rl

2. ARAE WS WATEA m:m Hi
W S O T, e
Ry & srgER feram

= fou 1T e @y R S g
(a) ad 1 ‘
(b) Fa 2

() 13R23=t

@ AN, TR2

frafafea & @ S9-d Raé @t ©
& o A, =7 & FAftm = wftat &

WA TgAT & &9 A 7, e T gl
WisRaT & &9 ¥ e@T A & frad aee
IR =g & forgat &1 SuAw srferaen
$ R = vl =3 ¥ g fen
TR ?

(a) wmafre gar afafa fard
(b) TR s fard
(c) wreeq afifa fRaré
(d) =27 & frmwr ) @i Rard

G20 i =1 & day § frafafaa
T Y HH-9 97 g8 ¢ ?

KSCB-A-GAI - A

1. G7THaft 3 G20% vced &
2. BRICS & @} 31 G 20 % &&= &

3. ASEAN & &¥ 3 G 20 % 957 §

4. gem uReg & @ W wew
G 20 % 6 §

A= iy g e = e R I g
(@) 1,233

(b) FaT23R 4

() 134

@) 2,33R4

91. Fr=fafaa & & Slv-w /a9 ==

Tl R/T ?

1. IRd & @fauw & wwEr-In #
safde 39 AER Faa T &
fore wadg &

2. WRA ¥ ufum ¥ wRE-mn &
Fafde o AfER Haer AwTient
% 9 | WA 8

3. 9Rd & wfum & wWm-Ir |
Fafde Fo AR T 3k
=fth, aAt & fou yadda €

= fou 1 e 1 W W I gf
(@) Faet 13K 2

(b) *a 2

(c) Fad 1

(d) 1,233



88.

89.

90.

Which of the following statements
is/are correct 7

1. The Muddiman ~ Committee
recommended the separation of
Accounts from Audit as a
necessary financial reform

2. Indian Institute of Public Adminis-
tration was set up on the lines
recommended by Dr. Paul H.
Appleby

Select the answer using the code given
below :

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
reports states that the budget is seen,
not as a simple balancing of tax
receipts against expenditure but as a
sophisticated process in which instru-
ments of taxation and expenditure are
used to influence the course of the
Economy ?

(a) Administrative Reforms Com-

mittee Report
(b)
©
(d)

Hoover Commission Report
Haldane Committee Report
Plowden Report on Control of
Expenditure

Which of the following statements
are correct about the composition of
the G20 ?
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91.

1. Al G 7 countries are members of
G20

2. All BRICS countries are me_mbers
of G20

3 AILABBAN corintries arermeiibers
of G20 '

4. Al permanent members of
Security Council are members of

G20

Select the answer using the code given
below : :

(@ 1,2and 3
(b) 2 and 4 only
(c) 1and 4

(d) 2,3 and 4

Which of the following statements
is/are correct ? ’_
1. Some Rights contained in Part-III
of the Constitution of India are
enforceable against the State only

2. Some Rights contained in Part-III
of the Constitution of India are
enforceable in favor of citizens
only

3. Some Rights contained in Part-III
of the Constitution of India are
enforceable against both, the state
and individuals

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 2 only

(c) 1 only

(d 1,2 and 3

A - KSCB-A-GAI
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gEEl & W9 fu Y g W o W
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A. HIERY 1. faferaar sk
, ' H wfe &=
B. @y W§
wfnfs 2. FE 12% W]
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94.

9s.

(a) 243

(b) 2438

() 243

(d) 2439
Freafora # 3 /-y =
R/ ? .

1. wEhE W wa afifEw, 1923
N oww WA f ReRe @
wymafTes gaR afufs gre 6t 1§ @

2. gu M W IfeR sfufew
2005 % srftfafia fomm am

ﬁ%%ﬁmﬁga:rmmwgﬁq:
(a) *ad 1

®) Faw2

(¢) 18R 23t

@ - AAL,TR2

ARG §RI ‘;ﬁ-ﬁﬁ gf&a’ (DRDO) A

e fammn g 2 .

(2) siR-wEr - framzw

(b) 9 ¥ 9 § AR F ah
(TR-g-TR) framee

(0) TIE-¥A (Td-ddese) frensw

(d) Tfha-Feit-arfea smsraor

Tgs (iR areE e
mﬁf«f)



92. Match List I with List II and select the -

correct answer using the code given

below the Lists :

List I
(Commission/
Committee)

A. Kothari
‘Commission

B. Satish Chandra

Committee
C. P. C. Hota
Committee
D. Prof.
Y. K. Alagh
Committee
Code :
A B
(a 4 1
b)) 4 2
3 1
(@3 2

£ D
By
1.+3
2. 4
i

List IT

(Suggested Reform
in Civil Services

Examination)

. Inclusion of

Medical and
Engineering
subjects

. Entrance

Examination
for Civil
Service after
Class XII

3. Objective

methodology
for personality
assessment

.. Civil Services

Mains exami-
nation (Written
and Interview)

94.

95

(a) 243-R
(b) 243-S
(c) 243-T

d) 243-ZA

Which of the following statements
is/are correct ?

1. The abolition of the Official
Secrets Act, 1923 was recom-
mended by the Second Adminis-
trative Reforms Commission

2. The Right to Informatibn Act was
enacted in 2005

Select the answer using the code given
below : : :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

“Mission Shakti” (DRDO) is the name
given by India to

(a) Inter-Continental Ballistic Missile

(b) Air-to-Air Missile

93. Under which one among the following

Articles of the Constitution of India, (c) Anti-Satellite Missile

the seats are reserved for the Scheduled

Caste and the Scheduled Tribe in every (d) Nuclear-Powered Attack Sub-
Municipality ? marine
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1. 159 o smamr 3 ToeT weuT

& I 149 o s @ fim
QISIES)
feaen) & foe AMEs & &9 A
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THEAT SR
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B, g 9REA & fou "eee
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ST # ¥ HH-9U1 /-0 FIT el

/%7

(a) *aa 1

(b) Had 2

(c) 13R 23l
(@ FAML,T82

97. frrafafas § ¥ fvedl, Tflg 9Rar
WA GIE9 4 § da T IRaR
@R FGEU 5 dh JTHT @) H i

R wefifa i e ® ?
(@ Ryggw
(b) wfeermait & Aerq
(c) ==a1 & 3Fam
(d F TR
98. frrafafaa w1 w e fifsg .

1. forelt w0 R & W WR /A @aA
? & a8 e (G o fasean) w
wseaat sftRifua ferat strar @

2. Tt 9o W FRX H WR "W R
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R e #
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99.

100.

S9YTh A ¥ HIE-91 /-8 F99 GEl
/%7

(a) Hae 1

(b) Fae 2

(c) 13K 23t

(d qFAL,TE2

T & aut #, frafafea § @ -,
ARG rfeqaedt §, Faer 9§, 7R
A @R ?

(2) Tt SushT, et S, fraw
() Frafa, wwa AR Gft fomior

(b) TWHRY AR, fsit SuwwT, fraw
(Fe) frafa, e for oot fmfor

(c) Trsht Suwi, wemer foR it frmfor,
wH e, frae (Re) fafa

(d) &Rt SuAn, faslt Suw, we
R gt fmfo, fae () fafa

YT & G 99 & &K TG Sl 9T
A & fou wra & dged faw smm
R feg o wmme g (Rdegye
wiRET) # a9 ok gk a1 =
foram we fRg @ € 2

(@) 10%

) 15%

©) 75%

d 2:5%




96. Consider the following statements :

1. The 15th Finance Commission
used fiscal effort as a criterion for
horizontal devolution unlike the

14th Finance Commission

2. Both the 14th and the 15th
Finance Commission used pre-
2011 demographic variables as a
criteria for horizontal devolution

Which of the statements given above

is/are correct ?
(@ 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2

97. Which of the following does NOT
show an improvement in rural areas
from the National Family Health
Survey 4 to National Family Health

Survey 5 ?

(a) Infant mortality rate
(b) Obesity in women
(¢) Anaemia in children
(d) Total fertility rate

98. Consider the following statements :

1. Burden of a tax on a commodity
is independent of who (buyer or
seller) it is explicitly imposed

upon

2. Burden of a tax on a commodity

‘depends on the slope of the

demand and supply curves

41

99.

100.

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

In recent years, which one among the
following is the source of demand in
the Indian economy in descending
order ?

(a) Private Consumption, Govern-
ment Consumption, Net Exports,
Gross Fixed Capital Formation

(b) Government Consumption, Private .
Consumption, Net Exports, Gross
Fixed Capital Formation

(c) Private Consumption, Gross Fixed
Capital Formation, Government
Consumption, Net Exports

(d) Government Consumption, Private
Consumption, Gross Fixed Capital

Formation, Net Exports

What is the percentage weightage
assigned to Forest and Ecology in the
devolution formula given by the
Fifteenth Finance Commission of India
for sharing of Union tax revenue with
the States ?

(@) 10%

(b) 15%

() 7-5%
(d) 2-5%
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101. #ifees Afy & foeal & w@eg &
freafafaa w97 ) fer fift .

L fdgifgsgmm

@ amgfd 7 ofg W wewar @

2.%%?€Emﬁwﬁwﬁ%rm%_

R &9 amgfd # 9fg o T ©

3. %5 9% IRfdm wed ffy
a7 3fg F TR w9 fir smgfe
HET Tl §

I9gE H# A IH-1 /AR 9T 9

/% ?

(a) Faer2

(b) FaeT 23R 3

(c) ae 133

(@ 1,23R3

102. T wifvfesa iy (NLP) ¥ @@y
# frafafeg § ¥ S9-a1 =97 @@
. @R ? .
(a) NLP &I 2022 & wrw foram &
(b) NLP AR #1e st wfereqaferamar
# gurR wan
(c) NLP anffs wgfg =sqmm 3k
AR & et § gfg =
(d NLP ge@ o &t wgfm @
(fSfeforr) & forq sEe wem
FAM 3R 7 srgEcEar et #§
Ry & fou Tvea saw wem
A4 ,

103. FTEST{e aEgell R STRIATAT (exter-
nalities) & Tyl ¥ Frafafe oAt
fr Hrfre :
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104.

10S.

1. R-ufgfear sk R-afessofiaar,
QA s aegeit 6 fidrwan
?

2. sgramstt it fermmar B Rufy §
TR feft aeg it seam wEn
I FT Tl &

G A A IH-1/H-Q T q6
R/%?

(a) Fae1

(b) a2

(¢) 1323

(d TAL,AE2

frafofea & @ fees g a9 F =
TSTE &l AT & W1 GIHAT A & forg
W AHA g (g
wiEer) # 9§ 2011 B FwEET W=
ggell SR wfier fomar w2

(a) wRear o smw

(b) dseal faa smam

(c) Seear fomr s

(d) sRear o s

TR {E ASET ((PMMY) & fg

frafafea & ¥ sv-w1 =ow 9@ &

g7

(a) T af 2015 % Rw forar

(b) 3EH AT oA wA 9 fafemtor,
R 3R a1 &1 & forg 15 @@
- WU T /T EH S @

(c) T ANFT & e Faer Hiardt =
# FrEwEEaEt W @ fear S
THAT § R wefer gt i
FEaFEAET B R A foRar W
el

) wu & Ty F fou ek
FHUTHR (collateral) & foru 3mrg
&1 forar ST



101.

102.

103.

Consider the following statements
regarding instruments of Monetary
Policy :

1. The Central Bank can increase the
money supply by increasing the
bank rate

2. The Central Bank can increase the
~money supply by purchasing
securities from the public

3. The Central Bank can decrease the
money supply by increasing the
cash reserve ratio

Which of the statements given above
is/are correct ?

(a) 2 only
(b) 2 and 3 only

(c) 1 and 3 only

(d 1,2and 3

Which of the following statements
with regard to National Logistics
Policy (NLP) is NOT correct ?

(a) NLP was launched in 2022

(b) NLP would improve the com-
petitiveness of Indian goods

NLP would enhance economic
growth and increase employment
opportunities

©)

(d) NLP would provide an oppor-
tunity for deleveraging balance
sheets and providing fiscal space
for investment in new infrastruc-

ture assets

Consider the following statements
regarding Public Goods and Exter-
nalities :

43

1. Non-rivalry and non-excludability
are two characteristics of Public
Goods

2. Market can provide the optimal
amount of a good in the presence
of externalities

Which of the statements given above
is/are correct ?

- (a) 1 only

104.

10s.

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Population of the year 2011 was first
introduced in the tax devolution
formula for sharing Union tax revenue
with the States by

(a) Thirteenth Finance Commission
(b) Fifteenth Finance Commission
(c) Fourteenth Finance Commission

(d) Twelfth Finance Commission

Which of the following statements is
NOT correct for Pradhan Mantri

Mudra Yojana (PMMY) ?
(a) It was launched in 2015

(b) It grants loans of up to 15 lakhs

for income generating manufac-
turing, trading and services sectors

(c) Under this scheme only the term
loan requirements can be met and
not the working capital require-

ments

There is no insistence on collateral
for the sanction of loan -

(d)

A - KSCB-A-GAI



106. 1990 F W & IRfrw ai # 7
s ifr & sivla fhe T e
FTffer gaR F-7 F 7

1. TR FereReT

2. gEwifie & fafea

3. I INGE

4. dtg sitenfrfieor

A g 1T Fe F1 wE W sw gRm
(@) *Ed1

(b) 33K 4

() 13R2

(d) 23R4

107. Frafafaa womt w far fiftc .

1. U GO 9TEYeE @
T © 156 2022-2025 Fi srafyr &
forq, e awan & wodf F oftd
& AT # Hewh, W R AW @
e qrseTs Wil §

2. TG Aaul IS &
Fta, wRwmafy g & foag
I Ry S T GEEt #
qrEsTis-fslt wefied ge sk
FaaEt Ry =m (vw) e
A

I ¥ P-a/A-T F
/2?7

(a) Faa 1

(b) Fa 2

(c) 1323t

(d FAL,TR2
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108. G W& HEwhifd  ft woEr #
frafafea & @ o anfer =t fen

- ST R ?
1. T 3R ¥ o
2. 307 R vy
3. ufae @@ €9R
4. 7@ @ fen
A= fig 1T g2 1 wEn W e g
(a) Fae 132
(b) Hae1,23R 3
(¢) 1,2,33R4
@ a3 a4
109, Fremfir % 3 AR, T A
YSINT WTfet <1 WRT @ ?
1. fafaar wfeat
2. =TT Wit
3. Feq
. 4. fEe (e) ¥R SUR
i fiw g % W A W I P
(@) FI913R3
(b) Fa23R4
() 1,2,33R4
(d) Fae1,334




106.

107.

What were the main reforms under-
taken under the New Economic Policy
of the early 1990s ?

1. Trade liberalization

2. Public Sector Disinvestment
3. Poverty Alleviation

4. Rapid industrialization

Select the answer using the code given
below :

(a) 1 only

(b) 3and 4
(c) 1and2
(d) 2and 4

Consider the following statements :

1. National Monetisation Pipeline
estimates that for the period
2022-2025, the top three sectors in
terms of monetization potential
are roads, railways, and oil and
gas pipelines

2. Under the National Monetisation
Pipeline, the instruments to be
used for asset monetization include
Public-Private Partnership conces-
sions and Infrastructure Investment
Trusts

Which of the statements given above
is/are correct ?

(a) 1 only

() 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

45

108.

109.

Retail core inflation is calculated
excluding which of the following ?

1. Food and beverages

2. Fuel and light

3. Transport and communication
4. Clothing and Education

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 1, 2 and 3 only
(c) 1,2,3 and 4

(d) 3 and 4 only

Which of the following is a part of
the capital receipt of the Government
of India ?

1. Disinvestment receipts
2. Interest receipts

3. Small savings

4. Net market borrowing

Select the answer using the code given
below :

(a) 1 and 3 only

(b) 2 and 4 only

(c) 1,2,3and 4

(d) 1, 3 and 4 only

A — KSCB-A-GAI



110. Fg TWEHR & To@ & Fr=fafea |t

111.

F, 2023-24 § g WHR & Fo1 o

# v A9eE & gerl H AR A

Zafera $ifsg

(a) R STG Yoh, €T e, T
&R, GST :

(b) T &, R IATE H, GST,
fam ==

(c) ¥FT Yo, He IS e, fm
¥R, GST

(d) ¥ UH, GST, I SAE Tosh,
formr ==

HRad, 2024 § WRG & wuEEA 3K
TG IR FHRE (UAE) & Tsgafer &
a9 g At ¥ wRuml & dew ¥
frafofea & @ S9-ar/a9-8 ==
T e/8? |
1. QA1 3 A Ref fae /e w=t
A" H e (Sefafd) &
T W) gEER fg
2. fsfvee sma figismmst #
qeam & fog wEsar w9 W
TEER o g
3. QM out # wewfa s+t foh @it
W gadi d5w # uw feusfig
forawr sy w e forg SR
A fou T e W W R Sw IR
(a) Sae 132
(b) Fad2
(c) Faw13R3

(d) 1,23R3
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112.

113.

114.

Freafafea # & H9-ar, wra © ey

MR Hifd-2023" & @ F A & T

A

(a) MFN (waffis wedier ) =1
foar

(b) wewifar & wegw @ fafa
TcaTed

(c) FRER FIHar

(d) ST 8x-ThHE (SCOMET) Hif
N AR HAT .

WRA HR & ‘Siad AW FEHT

(Al fooe wm)’ & wew #

frafafea # | S9-w1/F9-8 w9

e 8/8 ?

1. g a&9 fufga a9t =1 =ams
T = |

2. 30 FTIHA & Il Ael, AERI,
ga vl snfe 1 e
feran < @

A fo 1T Fe F AR W IW g
(a) a1

(b) e 2

() 13R 23t

(d TAL,TR2

Frafafea # & fora 3w 9 433 anfam
firR ¥R (ASEAN SUMMIT) &t
Fegear it ?

(a) @Sl

(b) freidta

(©) ESEIR R

(d) weanfean




110. Arrange the following sources of

111.

revenue of the Central Government in
ascending manner in terms of percen-
tage contribution to the total revenues
of the Central Government in 2023-24

(@ Union Excise Duty, Custom,
Corporation Tax, GST

(b) Custom, Union Excise Duty, GST,
Corporation Tax

(¢) Custom, Union Excise Duty,
Corporation Tax, GST

(d) Custom, GST, Union Excise Duty,
Corporation Tax

Which of the following statements
with regard to the outcomes of the
talks between the Prime Minister of
India and the President of UAE held in

February, 2024 is/are correct ?

1. Both countries signed an agree-
ment on inter-linking of domestic.
debit/credit cards

2. An MoU was signed on coopera-
tion in digital infrastructure
projects

3. Both countries agreed that a
Bilateral Investment Treaty shall
be signed in the next meeting at
the ministerial level

Select the answer using the code given
below :

(a) 1 and 2 only
(b) 2 only

(c) 1 and 3 only
(d 1,2and 3
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112.

113,

114.

Which of the following is NOT one of
the pillars of India’s ‘Foreign Trade
Policy-2023’ ?

(a) Enlarging MFN (Most Favored
Nations)

(b) Export promotion through collabo-
ration

(c) Ease of doing business

(d) Emerging areas - streamlining
SCOMET policy

Which of the following statements
about ‘Vibrant Village Programme’
of the Government of India is/are
correct ?

1. It aims at comprehensive develop-
ment of the identified villages

2. Fairs, festivals, sports meet etc. are
organized under this programme

Select the answer using the code given
below :

(a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

Which of the following countries
chaired the 43rd ASEAN SUMMIT ?

(a) Thailand

(b) Philippines
(c) Indonesia
(d) Cambodia

A — KSCB-A-GAI



115, Frafafea & | foa wee adsita

I H FeT B wE () &

Icpsear MR RERR-2023 A
ot ey foram mam @ 2

(a) TASIE (NTPC)
(b) sC=sud (BHEL)
(c) SR @i (Balmer Lawrie)

(d) TodEiC (HPCL)

(¥ fodm R Flas) o fewn € 2

(a) wgwh g faea @rfsA (UNDP)
R feor-gd oRend s @
W57 (ASEAN)

(b) sffs wear 3k fem @
(OECD) 3R ASEAN

(c) UNDP 3R sififs weart aﬂz
fema @3 (OECD)

(d) AT s "@BA (ILO) 3K
ASEAN

117. frfafea § & F-w1 30 T F W
T | et aKar § ? -

@ b

(b) g

(c) e

(d) Tergamferar
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116. frfifea & & R9- G157 TIWB
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118.

119

120.

JAYWAN frfafea # & fea o =1
s ?

(a) 9% (UAE)

(b) frm

(c) Thal IR

(d) =T ;
frferfes 3 3 e, ‘adirs afivrr’
& forg siaasdia @it qRER-2023 Sitar
®2

(a) Fm adf (www)

(b) AETE ATE

(c) dR T

(d) wiféR AT

CBAM (el 1< Ugoeeie Aahfen)

& oy ¥ fafafee & @ S=-ar/
F-¥ T Tel /% ?

1. ¥ =R ifd amEE 1 T SR

T W § T F FOR JdaAg
Hiftr ar SenfieR & wOR Feayg

Aifq o gAfieR #§ FreF-Ted
anfer wifafafy 6t smfa o R

2. T W weEg At H
iERoa WHTEET S G R

13 g T 5 w1 A a IR TR
(a) Fae1

(b) w2

() 13R23t

(d IANL,TR2




115.

116.

Which one among the following Indian
PSUs has been declared as the winner
at the Brandon Hall Group’s Excel-
lence in Technology Award-2023 ?

(@) NTPC
(b) BHEL
(c) Balmer Lawrie

(d) HPCL

Which of the following two organiza-
tions are parts of TIWB (Tax
Inspectors Without Borders) ?

(a) United Nations Development Pro-

gramme (UNDP) and Association
of Southeast Asian Nations

(ASEAN)

(b) Organization for  Economic
Cooperation and Development
(OECD) and ASEAN

(c) UNDP and Organization for
Economic  Cooperation  and
Development (OECD)

- (d) International.Labour Organization

117.

(ILO) and ASEAN

Which of the following countries does
NOT share boundary with Ukraine ?

(a) Romania

- (b) Moldova

(c) Poland
(d) Lithuania
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118.

119.

JAYWAN is the domestic Debit Card
of which of the following countries ?

(@) UAE

(b) Egypt

(c) Saudi Arabia

(@ Nepal

Who, amongst the following, has won

International Emmy Award-2023 for
‘Best Actor’ ?

~ (a) Jim Sarbh

120.

(b) Shefali Shah
(c) Vir Das

(d) Martin Freeman

Which of the following statements
about CBAM (Carbon Border Adjust-
ment Mechanisms) is/are correct ?

1. These are an emerging set of trade
policy tools to allow movement
of carbon-intensive economic
activity from a jurisdiction having
less stringent climate policy to a
jurisdiction  having  stringent

- climate policy

2. These are meant to increase the
environmental effectiveness of
climate policies

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

- (d) Neither 1 nor 2

A — KSCB-A-GAI



121. 2023 & A Wifd [E&R F Gag 7

frafafe & & sl9-w1/aR- w9
wWR/E?

19§ 2023 & A W TSR
TG Aee S e TR

2. TG GG S AR R
A A Oify a F 76 g ¥
fore = weR ¥ gEnfa e
™

aﬁ%ﬁqmagmmaimgﬁq

(a) Fa991

(b) Fae 2

() 13R 23t

@ TFAN1,TER2

122. 6gF T V9] w&aﬁ# A
(COP28) & way # frafafya #
FT-|T FIT el AET © ?

() “iae wiweH COP28 & q&A
() uftoms R

) 3@ Ifeew arEE-afy (e
aifd) = 1-5°C e difia == i
STEIHAT Sl ATIAT o

(c) zax foamasfter 2wt = Sfrarww Suw
& fim oAt § wFw ¥g g
FA o fdwr fean

(d) T8 Praer-figa B =wEg o A
FH A | Ao 9 ) SR

123. 3 AW M AR €9 (2023)
e % dey § fafafeg ¥ @
H-UT/RT-Q Fg9 a8 2/8 ?
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124.

125.

1. R R g Wit B 3
5 |

2. fofa & sER, I smgeRt @
TR % foy amER, WRa & g
wmwﬁaﬁszﬁ%ﬁqm%
A B

A fou T Fe @ A W 9w g
(a) 1

®) ¥z

(© 13R23t

(d [AL,TE2

i fm wwere aReg (NCSM),
St wRa # fmw F6/dreeEt/
TAER dal il fanla 9% @ R, s
T w0 et ® ? '
(a) o 3k e w=em
(b) HeHfa wAeA

(c) foen wamem

@ = fomm e

frafafea & ¥ s ) = 3 2023

# e (UNESCO) & frfea fidiw
ook # ‘wifia f F' F w0 F wle
foram 2

(a) wifrs
(b) =

(c) FRITE
(d) arforR
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122.

123.

Which of the following statements
about the Nobel Peace Prize for 2023
is/are correct ?

1. The 2023 Nobel Peace Prize was
awarded to Narges Mohammadi

2. Narges'Mohammadi was awarded
the prize for her struggle to bring
peace in Afghanistan and Iran

Select the answer using the code given
below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which one among the following
statements with regard to the United
Nations Climate Change Conference
(COP28) is NOT correct ?

(a) The °‘Global Stocktake’ is the
central outcome of COP28

(b)

It recognized the need to limit
global warming to 1-5°C

(¢) It directed the developing
countries to lead the transition
away from fossil fuel

(d) It emphasized accelerated phase-

down of coal-power

Which of the following statements
with regard to the Anoop Barenwal v.
Union of India (2023) case is/are
correct ?

51

124.

125.

1. The case was heard by a Constitu-
tional Bench

2. According to the judgment, the
grounds for removal of Election
Commissioners shall be the same
as the Chief Justice of India

Select the answer using the code given
below :

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

The National Council of Science
Museums (NCSM), which is devel-
oping Science Centres/Museums/
Innovation Hubs in India, works under

(a) the Ministry of Science and

Technology

(b) the Ministry of Culture

(©
d

the Ministry of Education

the Ministry of Earth Sciences

Which one among the following cities
was included as the ‘City of Music’
in the year 2023 in the UNESCO’s
Creative Cities Network ?

(a) Kozhikode
(b) Chennai
(c) Varanasi

(d) Gwalior

A — KSCB-A-GAI
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